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LISTENING TESTS
Notes on the Marking Scheme

Non-verbal Answers

Follow the mark scheme as set out.

Verbal Answers (English or Target Language)

1.

The basic principle of assessment is that candidates should gain credit for what they know, understand and can do. The following guidance should be borne in mind
when marking.

(a)

(b)

(©
(d)

(©

Credit should be given for all answers which convey the key idea required intelligibly and without ambiguity. This applies whether the answer is in English
or in the target language. A separate assessment of spelling, punctuation and grammar is not required on these papers because of the nature of the answers.
However, these aspects are an integral part of assessing communication and marks cannot be awarded where errors in spelling, punctuation or grammar lead
to a failure to communicate the required information without ambiguity.

Where a candidate has given alternatives or additional information in answer, the following criteria should be applied:
- if the alternative/addition does not contradict the key idea or make it ambiguous, accept;
- if the alternative/addition contradicts the key idea or makes it ambiguous, reject.

Where numbered lines are given within a question/section of a question, credit should be given for correct answers, no matter which line they appear on.

Where a question has more than one section, a candidate may include as part of the answer to one section the information required to answer another
section. For instance, the information required to answer section (b) might be given as part of the answer to section (a). In such cases, credit should be
given for having answered section (b), provided that no incorrect answer has been given for that section in the correct place.

Where a question or part of a question carries more than one mark, candidates are given credit for all the correct answers they give, even if they have given
incorrect answers as well, except where any of the latter contradicts a correct answer that they have given.

..... /..... means that these are acceptable alternative answers. (.....) means that this information is not needed for full marks.

In questions where candidates are asked to name, for example, three types of vegetable sold in the market, only the first three items they write down should be
considered.

In multiple choice questions where candidates must choose one letter or number, they should automatically get no mark awarded if they give more than one. If the
rubric instructs them to write one letter or number in the box and they do so, but write a second letter or number outside the box too, then the answer in the box
should be considered.

No mark scheme can cover all possible answers. When in doubt:

look for the key idea, where this is appropriate.

NFP = no further penalty
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Foundation Tier

Section A — Questions and Answers in English

Question Accept Mark Reject

1 In a village/village/small town/countryside 1 City, farm, town, house etc.

2 (1) One/1 1
(i1) Two/2 1
3 12™ March/on twelve March 1
4 Cooking / making food/dishes/meals/making dinner 1
5 Grandfather/Dad’s father 1
6 Working with children/kids/working in a 1 Dinner lady etc/care worker

school/teacher/nursery/creche
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Section B - (%’)’2}

Question Accept Mark Reject

7 C 1

8 C 1

9 B, F (in any order) 2

10 B 1

11 (1) C (accept numbers) 1
(i1) B (accept numbers) 1

12 (i) C 1
(i1) B 1
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Question Accept Mark Reject
13 D, B, A (in any order) 3
14 (i) B 1
(i1) C 1
15 C 1
16 D 1
17 A 1
18 B 1
19 () C -
S 3
=N =E
(i1) B 1
20 B, D (in any order) 2
21 G, E (in any order) 2
22 (1) C 1
(i1) B 1
Total Marks 35
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Higher Tier
Section A
Question Accept Mark Reject
1 C 1
2 D 1
3 A 1
4 B 1
5() (:/‘ =
rb _ 3
=N =E
(ii) B 1
6 B, D (in any order) 2
7 G, E (in any order) 2
8 (1) C 1
(i1) B 1
9 1=C (11)=B (i) =D 3
10 ,.«0]_1:»: _B 1
“ 1
2l C
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Question Accept Mark Reject
1 ((1)) B ) ]/4"; ¢ ‘?J}i’ =y 1
ii & .- VA
bl P e Ben e JpSea?
(The spelling of 6'/'& will be standardised) d/'b -d/J
12 ,.bﬂ-‘n; _C 1
ol 1
=2 1
(i) C 1
(i)
v B 1
13 =2
14 (i) B 1
| Gl S ehrieliudio® | Sretines L st
(15&1/(}"/ Ku;/".’ acs
PO wbe bl LoV LT |
Sl gl g Ao st ;s
- s Reject &=/ on its own
OWANATS PR LN 1D
16G) |C 1
(i) 1

LPHOFL g sl Il it
S ] s

Just A”} or o)b
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Section B — Questions and Answers in English

Question

Accept

Mark

Reject

17

1. She lost competition/did not win any prize + reference
to activity.

2. She was not successful in exam/failed exams/being
unlucky

Questions 17-19 answers in Urdu / phonetics

18 (i)

(i)

Father is very concerned about his behaviour and future/father
is a strict man/father likes to dominate his son.

Mother is very lenient OR understand the needs/ways of young
person/Mother trusts him/she does not think telling him off'is a
good idea. Accept comparison statements.

It will ruin his future life OR he will regret one day OR he will
not be successful in life.

If no comparison is made

19 (i)

(i)

To follow the new ways of life OR to follow new or modern
lifestyle/one should change according to the times.

1.  Own identity/get to know oneself or themselves/to
build one’s own image/personal identification/being
successful/making progress.

2. Suitable employment/work/career OR to earn
living/money.

(For 1 and 2, details can be in any order)

Just good life

Other answers.

Total Marks

40




